Time: 45 minutes

PRACTICE PAPER

Maximum Marks: 200

General Instructions: As groen in Practice Pafer — 1.

Choose the correct option:

L

0 5 =7
=5 0 1
7 =11 0

The matrix is known as

(a) Upper triangular matrix
(c) Symmetric matrix

Section-A

(b) Skew symmetric matrix

(d) Diagonal matrix

1A=} :], then the value of k if |24 | =k|A] is
() 4 (b) -4 ) 3 (d) 0
If A= :‘:fﬂ xg and A {adj A) =[:; :I, then the value of k is
(a) 1 (b) -1 €0 (d) 2
If flx) = ¢" then [~ (5) is equal to
(@) e by & (c) * (d) None of these
Let the parabolas y = 2 +ax+b and if = xle — %) touch each other at the point (1, 0). Then
{@)a==3 b b=1 ) e=2 (d) b==2
The value of | - 2v d T equals
Yl=a"=x
(2x2+1 22+ 1
.l -1

(@) sin ( V5 )+ ®) cos ( V5 ) -

2 +1 a2 -1
@ o 5 @ (357

cosx dy

The value of | equals

] N
VesinTxr=2sinxy =3
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(a) log|(sinx=1) + y/sin*x = 2sinx =3 |+ C

() log|(sinx +1) + y/sinx + 2siny =3 |+ C

(b) log|(sinx=1)=ysin’x=2sinx=3|+C

(d) loglsinx=2|+C

I fanxdy
The integral value of dl 1+ mitanis is
m .
(@) :f_l ®) tog( ) © log3m
_I;"IJ litri is equal to
+

T n n

@ 3 b == (G

2

(d) O

8
{cﬂﬁ

The area of the region included between the parabola y_SxT and the line 3x =2y + 12=01is

(@) 20 sg. units

(b) 12 sq. units

{c) B sq. units

(d) 27 sq. units

The differential equation of the family of curves ¥* + y* = 2ay = 0, where a is arbitrary constant, is

(@) (" =y")y =2xy

() 2" + )y =xy

The general solution of (2y <1) dx = (2x + 3) dy = 0 is

2y =1
@ 3y+3 =k

2x+3
(c) 2y=1 =k

2y+1

(©) 2=y =xy

(b) 5, 3=k

=1 _

Which of the following is not a convex set?
(@) {(x, v)|2x + 5y < 7}
ic) |x:|x|=5]

Suppose a random variable X follows the binomial distribution with parameters n and p, where O<p<1. If

k

(d) (* + ")y =2xy

(b) Alx, )| x* +y" =4}
(d) {(x, y)] 32* + 29" < 6}

P(X = f)WPIX = 1t = r) is independent of n and r, then p equals to

@ 3

11
ib) 3

© =

For the binomial distribution B(E, %], the variance is

@ 5

(b) 2

(c) 4

Section-B (B1)

If a relation R on the set {1, 2, 3} be defined by R = {(1, 2)}, then R is

(1) Reflexive

{a) 1

(b)) Transitive

(b) O

(c) Symmetric
Let * be binary operation on R given by a®* b= b =a + 1 then (5 * 4) is equal to

(c) 2

3
{iﬂ?

{d) Mone of these

(d) Mone of these

(d) Mone of these

Let the function f: R — R be defined by f(x) = 2x + sin x for x € R. Then fis

(1) one=one but not onto
(c) neither one-one nor onto

Let fix) =

() fog(x) =|

¥+,
2x+1, 1<x=2

x?,

x+2,

¥=<1 nd gt =

=l =x<?
2=2x<3

(b onto but not one-one

(d) one-one and onto

1:1, -l1=x<2

x+2, 2<xy=<3 then fog(x)is
® foxo={* "L

=l=x<?
2=y =3

A== D=SMI-—-D>=s
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¥, =1<x<2

¥+, ¥=1 _
@ faﬂﬂ'{“z, 22x<3

{c) _fb.'i;"[-f}l= 1-(21-1, lcx=y2

Let f:R—{—%}—-R be a function defined as ﬂﬂ-lt"hl'

f— R-[- %} given by

3y 4y 4y 1

(@) gy =375 b gW =75, © sW=3"g @ s =73,
The value of m'i(set%:) is

I 2r 47 =1
(@) = (b) =~ &) =3~ d) ==
The value of cos™ (=1} + sin™(1) is
) S ® 3 © = @ 5

P 5 E_md 12 Fis
If sin 3 +sin T-?,ﬂtenualueaf.\:ls
(a) 13 (b) =13 (0 £13 (d) 26
The value of cos(2 cos™ x +sin™ x) at x -% is

=22 2,3 +2,/2
(a) 3 () < () 3 {d) 0
The number of all possible matrices of order 2 x 3 with each entry 1 or =1 is
(a) 32 (by 12 () 6 (d) 64
If A is of order m x n and B is of order p x g, then AB is defined only if
(aym=gq (b m=p (€) m=p (dn=gq

b*=ab b-c¢ bc-ac
The determinant |ab=a® a=b b*=ab | equals to
be-ac c-a ab-a®

(a) abc(b =) (c —a) (a—b) {B) (b=c)(c—a)(a="b)
idla+b+c)ib=c)(c=a){a=h) {d) None of these
If A= [: _;l be such that A™ = KA, then value of K is
(a) + by 1 (c) =19 () =1

19 ¢ 19
The values of a so that the function flx) defined by

sin”ax . x#0
fld =7 4 may be continuous atx =0 is
1, x=0
(o) =1 )1 () =1 (d) Mone of these
The value of log, 2 with respect to x is
=1 1 1 1

() (log, 1} X xlog 2 () 0 (c) Togx (d) Tog2

The inverse of [ is the map g : Range
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If fix) = x° + 2x +7 then value of f'(3) is
{m) 18 (b) B () 10 (d) 3
The set of points where the function f given by fix) = | 2x = 1| sin x is differentiable is

1
(1) K (14} R-{E} () (0, oa) {d) none of these
The minimum value of fix) = 3 cos”x + 4 sin” x + cos %+sin§ is
() 4 (b 3+,2 (c) 4+,2 {d) none of these
xax

The value of jm E{[L’Iﬂl‘i 1]
la) Ljﬂ‘g'-"'”‘Lhﬁhz"’”*lfﬂﬂ'LI*C i Ll |x+]|+l1n |xz-l|+itan'lr+{f

2 1 2 208 178 2

2

() lngll'-llir%luglr"*-l|+%mn"x+c (d) mu"{@%i
3
3 dx
I o is equal to

T T a4 s
] r3 (B) R (e T (d) 1

T
o=t
T x
(a) & (b) O (c) 3 (d) 4

The area of a minor segment of the circle ¥* + y* = a® cut off by the line :r-% is

a a’
{a) E{d:t =343) &4. units (b ry (47 = 3) 5q. units
2
i) :—zx (3m = 4) sq. units (d) Mone of these

The solution of differential equation %+ % = sin x is

(@) x{y+cosx)=sinx+C b) x(y=cosx)=sinx+C
{c)xycosx=siny+C (@) x(y+cosx)=cosx+C

The general solution of the differential equation of the type % + Px = () is given by

(@) vel™¥ = [(Qe/ Py +C (b) el P = [(Qel Pinydx + €
() refp@'=_|-|[{,}cjp"-'}dy+c ) erM=erJMd:+C

The value of i for which the volume of tetrahedron, whose vertices have position vector i - 5] +9k,

-1 =2j+7k, 4i=j+Ak and 7i=-4j+7k is6 cubic units, is

(@) 7 (b) & () B (d) 9

If @ +|§ +-f=uf$, ﬂ +-'E+E = hii andﬁ,li,"_f are non coplanar and @ is not parallel to 3 then the value of

aG+B+v+3 is

(m) 2 (b) 3 () 1 (d) O

A== DS MI-—-D>=
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If d, b, ¢ are the position vectors of vertices A, B and C of a triangle then the area of the triangle is given by

@ axb+bxi+ixa @) 3abel (©) FlaxB+bxc+ixd| (d) None of these

If D, E and F are mid points of the sides BC, CA and AB respectively of a triangle ABC, then AD + BE + CF
is equal to

(1) 0 b1 ) 2 (d) Mone of these

The intercepts made by the plane 2x <3y + 5z +4 = 0 on the coordinate axes are
4 4 4 4 4 4 7 4 4
(a) -E,Emid-g (b) -l-EmE () "3 andg (d) -2,-5 anri-?

The angle between the line (5i = j = 4k) + A(2i = j + k) and the plane r.(3i =4j - K) +5=0 is

@ sin™ 24’91} () sin™ z#3=.a) @ sin™ .3¢"su} (d) None of these
The vector equation of the line IEE = y;4 =1 ;E is

(a) ¥ =(5i — 4] + 6k)+ n(3f + 7] + 2k) () r=(5{ =3j =2k)+n(2i +6 - 3k)

(c) ¥ =(5i =3] = 2k)+N(37 = 7] = 2K) {d) None of the above

If O is the origin and A is (a, b, c), then the direction cosines of the line 0A and the equation of plane through
A at right angle to 04 is

|[ﬂ'}.|1._'r+£=_|,|'+ra.'z=ﬂ'2-!:1-.:'2 (" rr.vﬁrl:g,hr.:':=.:1"j‘+£:lz+ra.'2

(c) ax = by rez=a + b= (d) Mone of these

Let A and B be two events. If P(A) = 0.2, P(B) = 0.4, P(A v B) = 0.6, then P(A/B) is equal to

(a) 0.8 (b) 03 (c) 0 (d) 05

Let A and B be two events such that P(A) = 0.6, P(B) = 0.2 and P(A/B) = (.5 then P{A'/B') equals
@) = *) = @3 @ =

Let X be a discrete random variable. The probability distribution of X is given below.

X 30 10 =10
1 3 1
P 5 10 2
E(X) equals to

(7) & (b) 4 (c) 3 (d) -5



